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0BJECT ORIENTED PROGRAMMING THROUGH C+十

〔η″σ:3 hclllrs

(MaXImuln IItarks:llXl)

PARI _ A

(Maximum nra*s : l0)
Marks

(5× 2‐ 10)

PART - B

(Maximum mad(s : 30)

II Arswer any lw of the following qucstiors. Each question carries 6 ma*s'

l. Write a short note on the basic suuchrrc ofa C# plogrdm'

2. Discuss structu€ as hetercgeneous aggegate'

l. Explain differ€nt paruneter passing methods in C+i

4. What aI€ the limitations of operator overloading ?

5. Explain mdtilevel inh€riturc€ wifi example

6. Write a note on class tsmPlal€s in C+

7. Discuss pue vttlal fimctians in C++ (5x6=30)
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PART - C

(Maximurn marks : 60)

(Answer oae firll question ftom each unil Each full qucstion caries

UNn-[
Define f.mctions. Wllat arp the differ€nt twes of flmctions in C+
Describe lhe corK.ept of memory management in C++

OR

Discuss with an example about iecusion in C++

Write a Eogrdm in C+ to find the sum of ev€n numbers up to .n'.

Urrr - [l

Marks

15 mad<s.)
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Explain the basic concepts of Object Oriented programming.

On

Diruss inline firEtioos wifi $itablc example.

Write a irote on conshuctors in C++

UNr _ III
Write a plogam in C++ to overload relatiorul op€rafor (= =) to comparo
two stings.

With the help of a sample prograrq explain hieErchical inherilarrc€.

0R
With the help of an example, explain how to overload unary o;Erator.

Explain virUral base class.

UNri - IV
Explain how the conshuctor of tlrc base class can be invoked wh€n the object
of the derived class is qeated.

What ale 6e rules for using virtual fuDctions ?

E4lain multiple inheritancc in C+ wilh an example prograrrl

Dscuss how to use multiple catch staternent for handling excef,tion in (l+
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